

LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SNE 4525J

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	REAR BUMPER	BENT	798.20	798.20
2	REAR BUMPER REFLECTOR @\$83.20	N/S CRACKED	166.40	83.20
2	REAR BUMPER SIDE RETAINER @\$171.45	N/S DISTORTED	324.40	171.45
1	REAR BUMPER TOWING COVER	MISSING	45.00	45.00
1	REAR BUMPER SENSOR WIRE HARNESS	SERVICEABLE	387.00	-
1	TAILGATE	BENT	2,110.25	1,732.10
1	TAILGATE INNER TRIM	BUCKLED	589.00	589.00
1	TAILGATE "HYBRID SYNERGY DRIVE LOGO"	NECESSARY	141.10	141.10
1	TAILGATE OUTER CHROME MOULDING C/W SENSOR	WARPED	741.00	741.00
1	TAILGATE WEATHERSTRIPE	DENTED / CUT	391.05	391.05
2	TAILGATE NUMBER PLATE LAMP @\$45.00	SERVICEABLE	90.00	-
1	TAILGATE OUTER LOCK HANDLE SWITCH	SERVICEABLE	354.00	-
1	TAILGATE LOCK	JAMMED	512.00	512.00
1	TAILGATE LOCK CATCH	BENT	42.30	42.30
2	TAILGATE INNER SIDE GARNISH @\$159.00	BUCKLED (1PC ONLY)	318.00	159.00
1	TAILGATE WINDSCREEN GLASS	SHATTERED	1,359.00	1,359.00
1	SET TAILGATE WINDSCREEN MOULDING	NOT NECESSARY	387.00	-
1	TAILGATE DETECTOR	CRACKED	287.00	287.00
1	TAILGATE BUZZER	CRACKED	198.00	198.00
2	TAILLAMP @\$1015.00	CRACKED / CUT	2,030.00	1,445.20
2	TAILLAMP LOWER PANEL (OUTER) @\$458.00	N/S BENT	916.00	458.00
2	TAILLAMP LOWER PANEL (INNER) @\$312.00	TO REPAIR SEE LABOUR	624.00	-
2	TAILLAMP LOWER GARNISH @\$398.00	N/S CRACKED	796.00	398.00
1	REAR FENDER LH	BUCKLED	1,258.00	1,258.00
2	REAR FENDER INNER TRIM @\$1124.00	BUCKLED / DENTED	2,248.00	1,562.00
2	REAR FENDER INNER TRIM TOP @\$312.00	MTG CRACKED	624.00	624.00
2	REAR FENDER COWLING @\$214.00	SERVICEABLE	428.00	-
1	REAR FENDER AIR VANT LH	DISTORTED	68.00	68.00
1	REAR QUARTER GLASS C/W MOULDING LH	MLDG NECESSARY	658.00	658.00

Report Ref No. CS/LIP22012633/Kqy3e2



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR AIRCON BLOWER	SERVICEABLE	2,258.00	-
2	SLIDING DOOR RAILING TOP GARNISH @\$312.00	SERVICEABLE	624.00	-
1	REAR END PANEL (OUTER)	BENT	689.20	689.20
1	REAR END PANEL (INNER)	BENT	685.00	562.40
1	REAR END PANEL TOP GARNISH	CRACKED	391.45	168.20
1	REAR FLOOR PANEL	TO REPAIR SEE LABOUR	2,489.00	-
1	SET REAR FLOOR PANEL TOP BOARD	CRACKED	1,241.00	791.60
1	REAR FLOOR PANEL TOP TOOLS GARNISH	CRACKED	412.00	412.00
1	REAR EXHAUST PIPE	TO REPAIR SEE LABOUR	1,359.00	-
1	REAR EXHAUST PIPE HEAT SHIELD	TO REPAIR SEE LABOUR	321.00	-
1	REAR SPARE TYRE BOLT	SERVICEABLE	32.00	-
1	REAR BATTERY TRAY	SERVICEABLE	214.00	-
1	REAR BATTERY	SERVICEABLE	450.00	-
1	SET REAR SEAT ASSY	TO REPAIR SEE LABOUR	4,857.00	-
1	REAR CHASSIS EXTENSION LH	TO REPAIR SEE LABOUR	387.00	-
	LESS 25% DISCOUNT		-8,825.09	-4,086.00
			26,475.26	12,258.00
	SPECIAL NETT ITEMS			
1	REAR NUMBER PLATE (SN)	CRACKED	50.00	45.00
1	SET TAILLAMP CLIP (SN)	NECESSARY	30.00	30.00
1	REAR BUMPER REVERSE SENSOR (SN)	DENTED	220.00	200.00
1	INTERIOR CAMERA (SN)	SERVICEABLE	350.00	-
1	REVERSE CAMERA (SN)	SERVICEABLE	350.00	-
1	REAR BUMPER CLIP (SN)	NECESSARY	50.00	50.00
1	TAILGATE WINDSCREEN SEALANT (SN)	NECESSARY	80.00	40.00
1	TAILGATE WINDSCREEN INNER SEAL (SN)	NECESSARY	80.00	30.00
1	REAR WINDSCREEN TINTED (SN)	NOT NECESSARY	200.00	-
1	SET TAILGATE OUTER MOULDING CLIPS (SN)	NOT NECESSARY	30.00	-
1	SET TAILGATE INNER TRIM BOARD CLIPS (SN)	NECESSARY	50.00	50.00

Report Ref No. CS/LIP22012633/Kqy3e2



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	SET REAR FENDER INNER TRIM BOARD CLIP @\$50.00 (SN)	NECESSARY	100.00	100.00
2	SET REAR FENDER INNER COWLING CLIPS @\$50.00 (SN)	NOT NECESSARY	100.00	-
1	REAR END PANEL SEALANT (SN)	NECESSARY	120.00	30.00
1	REAR END PANEL TOP GARNISH CLIP (SN)	NECESSARY	30.00	30.00
1	REAR FLOOR PANEL SEALANT (SN)	NOT NECESSARY	150.00	-
1	REAR FENDER GLASS SEALANT (SN)	NECESSARY	80.00	40.00
1	REAR BATTERY (SN)	SERVICEABLE	200.00	-
1	SET TOOLS (SN)	SERVICEABLE	200.00	-
1	REAR TOP MAT (SN)	SERVICEABLE	300.00	-
			2,770.00	645.00
	<u>LABOUR</u>			
	REMOVE AND REFIX REAR WINDSCREEN GLASS.		300.00	120.00
	CHECK AND RESET FAULT CODE LIGHT ON HYBRID BATTERY.	NOT NECESSARY	500.00	-
	REMOVE AND REFIT REAR WINDSCREEN GLASS.	REPEATED	150.00	-
	REMOVE AND REFIT REAR SEAT, UPHOLSTERY.		300.00	120.00
	REMOVE AND REFIT REAR AIRCON BLOWER.	NOT NECESSARY	150.00	-
	REMOVE AND REFIT REAR REVERSE SENSOR.		120.00	50.00
	REMOVE AND REFIT REAR FENDER GLASS.		160.00	80.00
	REMOVE AND REFIT REAR EXHAUST SYSTEM.	NOT NECESSARY	150.00	-
	REMOVE AND REFIT TAILGATE MECHANISM.		150.00	60.00
	TO CHECK ELECTRICAL WIRING.		200.00	30.00
	TO COATING EFFECTED BODY AREAS.		300.00	90.00
	REAR CHASSIS REALIGNMENT.	NOT NECESSARY	200.00	-
	PANEL BEATING ON AFFECTED AREA. INCLUSIVE OF THE REPAIR OF TAILLAMP LOWER PANEL (INNER), REAR FLOOR PANEL, REAR EXHAUST PIPE, REAR EXHAUST PIPE HEAT SHIELD, 1 SET REAR SEAT ASSY AND REAR CHASSIS EXTENSION LH.		2,200.00	1,500.00
	SPRAY ON AFFECTED AREA.		1,800.00	1,400.00
	TOWING SERVICE.		150.00	60.00
			6,830.00	3,510.00
	GRAND TOTAL		36,075.26	16,413.00

Report Ref No. CS/LIP22012633/Kqy3e2



Page No.:4 of 4

RECOMMENDED COST OF LUMP SUM REPAIRS		13,100.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CS/LIP22012633/Kqy3e2

MARKET VALUE: \$218,000.00 (EST)-LTA REIMBURSEMENT VALUE: \$89,797.00=NETT VALUE: \$128,203.00

KONG SENG CHEONG

Licensed Appraiser